THREAD

DEFORMATION.

ADHESIVE

)

—| U DIA |~—INSTALLATION HOLE

SUBSTRATE

RADIAL FLOAT OF NUT ELEMENT
.020 MIN FROM CENTER.

NUT CAN ENGAGE SCREW FROM
MAX" MISALIGNED POSITION.
THREAD LOCK BY ELLIPTICAL

H MAX

|—

|—

4

A4 |

1l

R MIN

v PRIMER THIS SURFACE.

-t

D DIA

_t

NUTPLATE ATTACHED
BY ADHESIVE APPLIED
TO THIS SURFACE.

DISPOSABLE ELASTIC
FIXTURE HOLDS NUTPLATE
WHILE ADHESIVE CURES.

—/

THREAD AND DIMENSION DATA (ALL DIMENSIONS BEFORE PAINT)

CODE | THREAD SIZE A MAX | B MAX| D MN |H MAX|RMIN| U ‘(NLEB'%O’; TENS('LLgsshTA'TB“GTH
04 | 112-40 UNC-2B| 651 | 315 | 152 | 155 | = |.112-152]| .14 750

06 |.138-32 UNC-2B | 682 | 357 | 178 | 171 | = |138-.178] 17 1130

08 |.164—32 UNC=2B | 707 | 367 | 204 | 250 | .062 | 164-204] .30 1720

3 [.190-32 UNF—28B 2460

T aoa inegg] 739 | 416 | 230 | 250 | 062 |.190-230| .36 o0

4 | .250-28 UNF-2B 4580

o m0m00 Tnegg] 801 | 500 | 290 | 281 | 062 |.250-290| .0 o

5 |.312-24 UNF-2B 7390
T3 8 Uneog ]| 1010 | 600 | 352 | 334 | 062 | 312-352| 114 e

* APPROXIMATE WEIGHT WITHOUT DISPOSABLE INSTALLATION FIXTURE.
NUT MATERIAL AND FINISH DATA

BASEPLATE MATERIAL AND FINISH DATA

BASEPLATE PRIMER

NOTE: "NL" PART NUMBER SUFFIX INDICATES NON—LOCKING NUT ELEMENT.

EXAMPLE PART NUMBER

CNoT4 CR 4 P

Lt

PRIMER ON BASEPLATE
THREAD SIZE - .250-28 UNF-2B
NUT AND BASEPLATE MATERIAL — A-286 CRES
BASIC PART NUMBER

CODE | MATERIAL FINISH LUBRICATION CODE | MATERIAL FINISH CODE | MATERIAL
CR | A-286 CRES | PASSIVATE | DRI-FILM LUBE CR |A-286 CRES | PASSIVATE NOPNE EPOXY PRIMER

B e T s o | S CARSON CITY

L W T s s s | (D] LS [T \gyapa 9706
CAD CN614-1 HePROVAS D

ANGLES i [ DAC T90CTI0 NUTPLATE MINIATURE, FLOATING

XX +.03 | cHecxe 080&%“ 190CT10 CAGE CODE DWG. NoO. REV.

XXX +.010 | = (H 210CT10 A 66530 CN61 4‘ 7

XXXX +.001 [ DAC 190CT10  [sx= 2/1 | 190CT10 EEE




THREAD

RADIAL FLOAT OF NUT ELEMENT
0,5 MIN FROM CENTER.

NUT CAN ENGAGE SCREW FROM
MAX  MISALIGNED POSITION.
THREAD LOCK BY ELLIPTICAL
DEFORMATION.

ADHESIVE
. /— SUBSTRATE

)

—| U DIA |~—INSTALLATION HOLE

H MAX |=—
~— R MIN

v PRIMER THIS SURFACE.

-t

D DIA

_t

NUTPLATE ATTACHED
BY ADHESIVE APPLIED
TO THIS SURFACE.

DISPOSABLE ELASTIC
FIXTURE HOLDS NUTPLATE
WHILE ADHESIVE CURES. =

THREAD AND DIMENSION DATA (ALL DIMENSIONS BEFORE PAINT)

*
CODE | THREAD SIZE | A MAX | B MAX [ D MIN [H MAX | R MIN | U VXEE;AHJs) TENS'('I(EI SJ&%NGTH
M [M3X05 | 166 | 80 | 38 | 40 | 05 | 30-38 | 06 33
WM& XO07 | 180 | 94 | 50 | 51 | 06 | 40-50 | 14 76
5M M5 X 08 | 188 | 106 | 60 | 61 | 13 | 50-60 | 16 10,9
6M M6 X 10 | 204 | 127 | 70 | 68 | 13 | 60-70 | 28 19,6
B (M8 X 1.0 | 257 | 153 | 90 | 82 | 13 | 80-90 | 52 328
* APPROXIMATE WEIGHT WITHOUT DISPOSABLE INSTALLATION FIXTURE.
NUT MATERIAL AND FINISH DATA BASEPLATE MATERIAL AND FINISH DATA  BASEPLATE PRIMER
CODE | MATERIAL | FINISH | LUBRICATION CODE | MATERIAL FINISH CODE | MATERIAL
CR |A-286 CRES | PASSVATE | DRI-FILM LUBE CR |A-286 CRES |PASSVATE NOPNE ooxy PRIVER
NOTE: “NL” PART NUMBER SUFFIX INDICATES NON—LOCKING NUT ELEMENT.

EXAMPLE PART NUMBER

CN6T4 CR

oM P

—L PRIMER ON BASEPLATE
THREAD SIZE — M6 X 1

BASIC PART NUMBER

,0
NUT AND BASEPLATE MATERIAL — A-286 CRES

[ e T s o e | S CARSON CITY
BT (e sy s s | (D] LIS [T \gyapa 89706
CAD CN614-2 HePROVAS D
METRIC DIVENSIONS [ _DAC T90CTI0 NUTPLATE MINIATURE, FLOATING
ANGLES +1° CHECKED 080&%“ 190CT10 CAGE CODE DWG. NoO. REV.
X 108 [ yoais ] A | 66530 CN614 (METRIC) |7
XX +0,25 [Fms2 DHAC 190CT10  [sx= 2/1 | 190CT10 EEI R




